\ery good. Over 30% of

10 ® Good. Many candidates were able to fing
the required sample proportion of households
® N‘hyﬂndithmwueabletoﬁndthevalueof b
thooght tht f=97% ~ B but some candidates wrongly
® Fair. Many candidates
’ were tmable to set up the correct inequality 1-(1-02)" >0999
T 3@ | Very sood About S0 orm .
3@ d
required probability, e Were able to perform standardization and i 1
®) @ | Very good. About 75% of the candidates were able to find the value of P(X<3) .
- s l
® | Good. Manry candidates were abje to write down E(X) = ’x where p is the probability
ofg!ﬁigmam'zedmble, but some candidates wrongly thought that E(X) = l—l .
4@ Very good. About 80% of the candidates were able to complete the proof by expressing
Var(Y) comrectly in form of either E(Y2)-[E(Y)| or EQr-E@)?) .
o) Very good. About 70% of the candidates were able to find the value of m by using
SEQ2Y -1)=16E(Y)-8 and Var(2Y-1)=4Var(y) .
5@ Very good. Over 85% of the candidates were able to find the value of «
®) () | Good Many candidates were able to find f(x) by indefinite integral but some
candidates were unable to use a suitable substitution.
@) Fair. Only some candidates were able to find the constant of integration in (b)(i), and thus
the required limit.
X0 Very good. Over 80% of the candidates were able to expand ¢ +¢** |
®) Very good. Most candidates were able to find the value of & by writing down the

coefficients of x and x* comectly.




estion .
(I%qumber Performance in Genera]
7 (@ Good. Many candidates were able to find :_y but som,
X ] can di
clearly why h= 4.0625 is not a possible answer. Gatey dig 2
te
Xbla:
(®) Good. Many candidates were able to find the maximum val Dl‘lh
value of x , but some candidates were unable to write ug °f 3 an dy
maximum point. OWn the e e COrre
©) Good. Many candidates were able to write down the equat; S of th§
using the result of (b). lon of hOﬁZOntal
tange
0t b
8 (@ Very good. Most candidates were able to use the result of K (v1nx) Y
‘ de T ¥) to fip,
‘ .[ Bxq,
®) Good. Many candidates were able to find I Inx dx by usingj
Stitye:
0]
(©) Good. Many candidates were able to use the results of @ n,
G-Dnx-1) " ad @)
but some candidates were unable to find th fing
x e
g

lower limits of the required definite integral.

—_—
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Question Performance in General
Number
0 Very good. Many candidates were able to find 4 and 4 by standardizing the normal
variable correctly.
®) Very good. About 75% of the candidates were able to find the required probability.
© @ Fair. Many candidates missed the binomial coefficients in finding the probability.
(i) | Fair. Some candidates were able to use the results of (b) and (c)(i) to find the required
conditional probability.
(iii) | Fair. Many candidates were unable to count correctly the number of cases under the given
condition, hence they were unable to find the required conditional probability.
/—— -
10 @ Very good. Over 85% of the candidates were able to write down the two Poisson
probabilities.
) Good. In finding the eéxpected bonus, many candidates were able to use Poisson
distribution with 7.2 in Suggestion II, but some candidates missed the binomial
coefficients in Suggestion I.
© @ Good. Many candidates were able to express the answer in terms of e and 4 .
(ii) Good. Many candidates were able to use conditional probability to find the value of 2.
11 (2) @) Very good. Most candidates were able to use correct sub-intervals when applying the
trapezoidal rule to find D, .
2
(ii) Good. Many candidates were able to consider the second derivative % to determine
whether D, is an over-estimate or an under-estimate.
®) @) Good. Many candidates were able to use integration by substitution to find D, .
(i) | Poor. Most candidates were unable to use a compound inequality such as D, <D <D
to finish the argument.
12 (a) Very good. About 85% of the candidates were able to find » and s .
@ | Fair. Many candidates were unsbleto write "™ as 3-3" to complete the proof.
() | Good. Many candidates were able to draw a conclusion by solving the equation
40
4 »
(1) | Falr. Many candidates were unable to find %3"“ , hence they were unable to find
dN d’N
() | Poor, Only & small number of candidates were able to describe correctly how -‘:’i’-
¢t

varles,




General recommendations
Candidates are advised to:
have a better understanding of the properties of natural logarithms;
have more practice in counting involving combinations;
in solving equations involving radicals;
b  where a and b are constants; and

1.
2.
3. have more practice

4.  have more practice in finding ‘—%a
pay agtention to the accuracy required for the final answer and keep eno
i p enough accuracy Ofim"“ned‘me





